Combining like terms

Simplify each expression.

1) —a®—a?+6a—21 when a=—4

2) n+3n—1llwhenn=-6

3) n®— Tn?+15n — 20 when n=2

4) n®—9n?+23n — 21 whenn=>5

5) —5n*—11n®—9n?—n—5 when n=—1
6) z*—5z® —xr+ 13 whenax =5

7) 22+ 97423 whenz=—3

8) —6x°+412?— 32z + 11whenz =6

9) o' —62°+ 27— 24 when z =6

10) m*+8m3+ 14m?+ 13m + 5 whenm = — 6
11) (5p —5p*) — (8p — 8p")

12) (7m® + 5m?) — (6m® — bm?)

13) (3n?2+n*) — (2n®—Tn?)

14) (22 +52%) + (Tz2 + 3%

15) (8n+n*) — (3n —4n?)

16) (3v*+1)+ (5—vh)

17) (1+45p%) — (1—8p”)

18) (6z°+ 5z) — (8x + 627)

19) (5n*+6n?) + (8 — 3n® — 5nt)

20) (822 +1) — (6 —z® — %)

21) (34+b% 4+ (T+2b+bY)

22) (14677 + (67 —2 —3r%)

23) (8x%+1) — (5a* — 62" +2)

24) (4n*+6)— (4n—1—-n")

25) (2a+2a%) — (3a2 — 5a* + 4a)

26) (6v+ 8v®) + (3+4v® —30)

27) (4p*—3—2p) — (3p° —6p+3)

28) (7T+4m+8m*) — (5m* + 1 +6m)

29) (45°+ 7h* — 3) + (8 + BB+ bY)

30) (Tn+1—8n*)— (Bn+Tn*+7)

31) (3+2n® +4n*) + (n® — Tn® — 4n?)

32) (72?4 23+ T2*) + (62% — 8x* — T?)
33) (n—5n* +7)+ (n®—Tn* —n)

34) (8224 2o + 7o) 4+ (Tat — T2® 4 222)
35) (8r4 =5 + 5r%) + (X7 + 278 — Tt 4+ 1)
36) (424 — Ta?) + (2 — 8+ 2 + 627)
37) (2n2+ Tt —2) + (2 + 20 + 4n? 4 2n%)
38) (75° — 4b 1 4b) — (86— 4% + 2 80)

39) (8 —b+7b%) — (36 + Tb— 8+ 7b?) + (3 — 3b+ 6bY)

40) (1 —3n*—8n?) + (Tn* +2 — 602+ 3n®) + (4n® + 8n* +7)

41) (8x* 4 22% 4 22) + (22 + 2 — 20 — a™) — (2 + 5zt 4 8x)



Find each product.

1) 6(p—17)

3) 2(6z +3)

5) SmA(4m + 4)

7) (4n+6)(8n+8)

9) (8b+3)(7h—5)

11) (4 +5)(2z + 3)

13) (3v —4)(5v—2)

15) (6x — 7)(4x +1)

17) (5z + y) (6 — 4y)

19) (x +3y)(3r+4y)

21) (Tx +5y)(8z + 3y)

23) (r —7)(6r> —r +5)

25) (6n — 4)(2n® — 2n +5)

27) (62 + 3y) (622 — Try +437)
29) (8n* + 4n +6)(6n* — 5n.+6)
31) (5K + 3k +3)(3k° + 3k +6)
33) 3(3z — 4)(2z+ 1)

35) 3(2z + 1)(4z —5)

37) Tz — 5)(z — 2)

39) 6(dx — 1)(dz +1)

Multiplying by general distributive property and FOIL

2) ak(8k +4)

4) 3n2(6n +7)

6) 3(4r —7)

8) (2 +1)(z —4)

10) (7 +8)(4r +8)

12) (Tn —6)(n+7)

14) (6a+4)(a —8)

16) (52 — 6)(4x — 1)

18) (2u+ 3v)(8u — To)
20) (8u+ 6v)(5u — 8v)
22) (5a + 8b)(a — 3b)

24) (4z+8)(4x? 4 3z +5)
26) (2b—3)(4b% + 4b + 4)
28) (3m — 2n)(Tm® + 6mn + 4n2)

30) (2a* +6a+3)(Ta* —6a+1)

32) (Tu® + Suv — 60%) (6u® + duv + 3?)

34) 5(z — 4)(2z — 3)
36) 2(dz + 1)(2z — 6)
38) 5(2r — 1)(dr +1)

40) 3(2x + 3)(6z +9)



